What is the output of the following code?

#include<stdio.h>

void main()

{

   int s=0;

   while(s++<10)

   {

      if(s<4 && s<9)continue;

      printf("\n%d\t",s);

   }

}

(a) 1 2 3 4 5 6 7 8 9 

(b) 1 2 3 10 

(c) 4 5 6 7 8 9 10 

(d) 4 5 6 7 8 9 

The most desirable cohesion in the modules is:

(a) Sequential cohesion

(b) Coincidental cohesion

(c) Functional cohesion

(d) Logical cohesion

What is the binary equivalent of (254)10?
(a) 11111110

(b) 11111111

(c) 11111101

(d) 11111100

In a relation R, every determinant is a candidate key. 

(a) R is in Third Normal Form

(b) R is in Boyce Codd Normal Form

(c) Both (a) and (b) are correct

(d) None of the above is correct

Number of bytes allocated to a long int variable in C language are:

(a) 1 byte

(b) 2 bytes

(c) 4 bytes

(d) 8 bytes

Which of the following is the worst form of coupling among the modules?

(a) Content coupling

(b) Data coupling

(c) Common coupling

(d) Stamp coupling

The communication mode that supports two-way traffic but only one direction at a time is 

(a) simplex

(b) half duplex

(c) duplex

(d) multiplex

What will this program display?

#include
main()
{
float f;

f= 10/3;

printf("%f", f);

}

(a) 3.3

(b) 3.000000

(c) 3

(d) 3.1
Which of the following commands in Linux is used to list contents of directories?

(a) ls

(b) dir

(c) lp

(d) tar

Which of the following data structure store the homogeneous data elements?

(a) Arrays

(b) Records

(c) File

(d) None

A data structure where elements can be added or removed at either end but not in the middle

(a) Linked lists

(b) Stacks

(c) Queues

(d) Dequeue

The ASCII code of ‘A’ is 

(a) (66)10
(b) (41)16
(c) (0100 0010)2
(d) (0110 0011)2
If a computer on the network shares resources for others to use, it is called:

(a) Server
(b) Client
(c) Mainframe
(d) None of the above

Which of the following is not a looping construct in C?

(a) for

(b) do while

(c) while

(d) continue

Find out the value of y after the execution of the following C Code.

x=7; y=0;
if(x=6) y=7;

else y=1;

(a) 7

(b) 0

(c) 1

(d) 6
Which of the following operator in C has right to left associativity?
(a) <<

(b) >=

(c) =

(d) %

Which of the following operators in C language has highest precedence?

(a) ++

(b) %

(c) !=

(d) &&

What is the full form of ODBC?

(a) Online data base connectivity

(b) Open data base connectivity

(c) Oracle data base connectivity

(d) Object data base connectivity

The time complexity of linear search is:
(a) O(n)

(b) O(log n)

(c) O(n2)

(d) None of the above
The post order traversal of a tree is D E B F C A. What is the root of that tree?

(a) D

(b) C

(c) E

(d) A

Which of the following is not a layer in OSI reference model?

(a) Physical layer

(b) Session layer

(c) Internet layer

(d) Application Layer

Which of the following parameter transmission technique is used for two way information exchange between functions?
(a) Call by value result

(b) Call by reference

(c) Both (a) and (b) above

(d) None of the above

Which of the following is a linear data structure?

(a) Linked list

(b) Array

(c) Stack

(d) All of the above

Pipelining improves CPU performance due to

(a) reduced memory access time 

(b) increased clock speed 

(c) the introduction of parallelism 

(d) additional functional units

FTP stands for 
(a) Filtering Transport Protocol              

(b) File Transfer Protocol
(c) Filtered Transfer Protocol                

(d) File Transaction Protocol
EDI stands for 
(a) Electronic Data Interchange             
(b) Electronic Digital-Signal Interchange  
(c) Electronic Digital Signature Interchange

(d) Electronic Data Information
‘Ping’ is used to 
(a) Connect multiple computers
(b) test whether the specific computer can be reached
(c) to transfer files between computers
(d) access a mailbox and download e-mail
Which of the following is not a DML statement?
(a) Select

(b) Update

(c) Grant

(d) Delete

What will be the output of following C program?

void main()

{int a=10, b, c;

a=10; b=a++; c=++b;

cout<<a<<b<<c;}

(a) 10, 11, 11

(b) 11, 10, 11

(c) 10, 11, 12

(d) 11, 11, 11

Which of the following software maintenance is most effort consuming?

(a) Adaptive maintenance
(b) Corrective maintenance
(c) Perfective maintenance
(d) Preventive maintenance
In Chomsky hierarchy Type-2 grammar is known as:
(a) Unrestricted grammar

(b) Context sensitive grammar

(c) Context free grammar

(d) Regular grammar

Context sensitive grammar is recognized by:

(a) Turing Machine

(b) Liner-bounded non-deterministic Turing machine

(c) Non-deterministic push down automaton

(d) Finite state automaton

Consider the following statement

Int a = 10, y = 15;

x = (( x<y) ? (y + x): (y - x);

What will be the value of x after executing these statements?

(a) 10

(b) 25

(c) 15

(d) 5

10-Base-T refers to 

(a) Ethernet using thin coaxial cable 

(b) Ethernet using thick coaxial cable 

(c) Ethernet using unshielded twisted pair (utp) cabling 

(d) none of the above

The cyclomatic complexity of the following C function is:

int max (int a, int b, int c)

{int m;

 m=a;

 if (b>m) m=b;

 if (c>m) m=c;

 return m;

}

(a) 1

(b) 2

(c) 3

(d) 4

A RAID system is useful because 

(a) it increases processor speed 

(b) increases disk storage capacity 

(c) increases disk storage capacity and availability 

(d) increases Operating System efficiency

Which of the following is true?

(a) Foreign key uniquely identifies a tuple.

(b) Primary key does not uniquely identify a tuple.

(c) Candidate key cannot be null.

(d) Foreign key cannot be null.

Essential conditions for dead lock are:

(a) Mutual Exclusion

(b) Hold and wait

(c) No preemption

(d) All of the above

Which of the following statement is a Data Control Language (DCL) statement?

(a) Drop Table

(b) Update

(c) Create view
(d) None of the above

